EERX 4

& R B |

itk oo LB ACER 2R 1

ET 55 JHEm (5B 2 HEKX)

= ==

FE 1= =

it R 2544 98 e T PO S

ke

S

i
1)

g

K

TEROR

FHE iz He 1] 2 e 29 s>
1 2 3 4 5 7 8 9 A
EREEH | 2 B % | #2REE hObFRE DA#FOS| HEREY | TSREIE | BARER |wweasces:| 8 2 8 K

HELE7 258KT

23 = ~ { i f /’76 B . ??’
/Sd,&x} 135 78 1 7% 4t7 | 1879 S SE3 ¢§> ¢ 0SS,

B & D E F G H
BRAOBYOE | WINORESIC |[H 2 # 2 K|8 5 & T K| = & K| BbRUZOM]| BREELK
T 72 = ®|BELAVEK| (A+B+C) (D+E) (F+G)

5. 00/ L0556 /1S & 777/ L1
)

CO TNWTNOBEFICHELIZWER] L3RS ORREBIBHEOERELEN 0 TH220. EOBROB/RERITHREATERNHO,



